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N.B.: 1) Mention clearly the options you attempt.
2) Figures to the right indicate full marks of the respective question.
3) All questions are compulsory.
4) Write your answers in ‘Blue’ or ‘Black’ ink only. Answers written in
any other ink may attract disqualification.
5) Do not reveal your identity in any manner or else you will be penalized.
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One great defect of our civilization is that it does not know what to do
with its knowledge. Science, as we have seen, has given us powers fit for
the gods, yet we use them like small children. For example, we do not know
how to manage our machines. Machines were made to be man's servants,
yet he has grown so dependent on them that they are in a fair way to become
his masters. Already most men spend most of their lives looking after and
waiting upon machines. And the machines are very stern masters. They
must be fed with coal and given petrol to drink and oil to wash with and
must be kept at the right temperature and if they do not get their meals when
they expect them, they grow sulky and refuse to work or burst with rage
and blow up and spread ruin and destruction all round them. So we have
to wait upon them very attentively and do all that we can to keep them in a
good temper. Already we find it difficult either to work or play without the
machines and a time may come when they will rule us altogether, just as we
rule the animals.
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1. Full form of Al
(A) Artifice Intelligence (B) Artificer Intelligence
(C) Aurtificial Intelligence (D) None of the above
2. What “S” stands for in “https”.
(A) Security (B) Secure
(C) Sanction (D) All of the above
3. Full form of ASCII
(A) American Standard Code for Information Interchange
(B) American Standard Corte for Information Interchange
(C) American Standard Cube for Information Interchange
(D) All of the above
. Full form of BIOS
(A) Base Input Output System (B) Basic Input Output System
(C) Both “A” and “B” (D) None of the above
. What “Fi” stands for in “WiFi”
(A) Finding (B) Fidelity
(C) Fine (D) None of the above
§. LAN, WAN and MAN are computer networks covering different areas. Their
first alphabets L, W and M stands for
(A) Local, Wireless and Metropolitan
(B) Line, Wireless and Maximum
(C) Local, Wide and Metropolitan
(D) None of the above
9. are the parts/sections of a Keyboard.
(A) Functional Keys (B) Directional (Movement) Keys
(C) Both “A” and “B” (D) None of the above
. Full form of “PNG” for graphics file format.
(A) Picture Network Graphics (B) Processed Network Graphics
(C) Portable Network Graphics (D) None of the above
. Microsoft launched which Internet Browser in 1995.
(A) Mosaic (B) Netscape Navigator
(C) Safari (D) Internet Explorer
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10. A half byte is called
(A) bit (B) byte
(C) Nimble (D) Nibble
14. The Lotus 1-2-3 was equivalent to which Microsoft Office application.
(A) Word (B) Excel
(C) Notepad (D) None of the above
12. Using online Microsoft Office, we can directly save the file on
(A) Local HDD (B) One Drive
(C) Both “A” and “B” (D) None of the above
13. Shortcut key for non-breaking space in Microsoft Word.
(A) Ctrl + Shift + Spacebar (B) Ctrl + Alt + Spacebar
(C) Citrl + Spacebar (D) None of the above
1%. To enter current date in a Microsoft Excel cell you need to press
(A) Ctrl +; (B) Ctrl +Alt+;
(C) Ctrl + Shift +; (D) None of the above
1U. Which is not a type of Storage Device
(A) Magnetic Storage Devices (B) Optical Storage Devices
(C) Flash Memory Devices (D) None of the above
1€.  Which is not a type Optical Storage Device
(A) Compact Disc (CD) (B) Digital Versatile Disc (DVD)
(C) Floppy Disc (FD) (D) None of the above
19.  Which is not a type Malware
(A) Ransomware (B) Adware
(C) Spyware (D) None of the above
1¢. The Information Technology Act, 2000 was notified on
(A) 171 October 2000 (B) 17™ November 2000
(C) 17 September 2000 (D) None of the above
1¢.  Ahigh quality CAD system uses the following for printing drawing and
graphs
(A) Dot matrix printer (B) Digital plotter
(C) Line printer (D) All of the above
20. The three main colours used in Ink Jet Printer along with Black colour are
(A) Blue, Magenta and Yellow (B) Cyan, Magenta and Yellow
(C) Calamine, Red and Yellow (D) Blue, Red and Yellow
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